Réveillon (Vichy) TH3 joker séjour Réveillon-Scrabble - Classement final

Réveillon (Vichy) TH3 joker séjour Réveillon-Scrabble : 4 joueurs
1 N1, 4 N2,4 N3, 18 N4, 16 N5, 2 N6
P1:1089 P2: 1359 P3: 1491 Cumul : 3939

P Joueurs Cat | S |Score| %S1 %S2 %S3 PP4 |Points
2 |FAUCHER Stéphane S | 2B | 3716 | 0.00 | 100.00 | 100.00 | 39.00 88
2 |GEVAERT Steeve S 2B | 3716 0.00 100.00 | 100.00 | 39.00 88
4 |ALLAGNAT Lionel S | 2B | 3611 | 0.00 50.00 | 100.00 | 37.00 84
13 |LEVOYER Dominique S | 2A | 3277 | 0.00 0.00 0.00 28.00 66
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